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4.1.1 [RERZIAIEEE:

B X4.1.1. HEXE IE, 7 FEREF ()R SEREBIA ),

TR x e LA F'(x)= f(x)B dF(x)= f(x)dx,
WFR F (x) Af )FEXE T EF—NRRE .
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(2) fORERPANERBZFREE—NEE.
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(2) fFOREERNEREZ B RHEE—INEE

(2) B F(x)Rld(x) f(x)RAERMNAE RS, Bl
F'(x)= f(x) ®'(x)= f(x)

L [@(x)- F(x)]=9'(x)- F'(x)= f(x)- f(x)=0
W O(x)—F(x)=C, (Co NENTEE)
Bl ®(x)= F(x)+Cy BT REIE F(x)+C.
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2. W SR ZHEBIRR:

0 I redx]= £ B[ f fox]= fod

(2) [F'(x)dx=F(x)+C B [dF(x)=F(x}C
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(1) fFORF )R FERE; 2) FEORS R RERE;
(3) F'(x)= f(x); @) [ f(x)dx=F(x)+C.
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f(x)=(arctan x)' =

f(x), I f (x)x, I f(x)dx.
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AT, I f(x)dx=arctanx +C

| £'ydx = f(x)+C=

1
1+ x?

+ C.

11

=0

NJUPT




4.1.3 EZS* \ﬁ% (_)
) [kdx=kx+C (K FEH)

@) [xtdx= Lix# 4+ C (ur-D

(3) j—-ln\x\+c

(4) J‘F= arcsin x+ C Bt —arccosx+C
— X
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(6) [cosxdx=sinx+C

(7) Isinxdx= —cosx+C
(8) Iseczxdx= tanx+C

d
9) I . .zx =_‘-csczxdx= —cotx+C
sin” x

(10) Isec xtanxdx =secx+ C

(11) Icscxcot xdx=—-cscx+C

(12) [e*dx=e"+C
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4.1.4 AERTHEFZFZEN
RHA1L1 & f(x), g ORBERBAIFELE, k, HHEH N

[ 1hf (x)+ Ig(x)ldx = k [ £ oy +1 g(xx.
pla & [ (= 2) dx .

1 3 1 1
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3 1 1
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5 3 1
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sin” x
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(Z)F%EFI -, dx =j4csc2 2x dx=—-2cot2x+C
sm 2x
2 1
sin® x + cos” x
dx = dx + dx
e A= Ism 2 veosx Ism X jcos X

=tanx—cotx+C

tanx —cotx=-2cot2x
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W =10 Ty K SoRBTE
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